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Directions: Determine the length(distance) of each line segment using the formula.

1) G(6,5) and H(9,2)
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4) Express, in simplest radical form, the
distance between the points whose
coordinates are [(2,4) and K(-2,10).
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5. The coordinates of the vertices of AABC
are 4(0,0),B(3,0) and C(0,4). What is the

length of BC? 6C :J@jS) z+ (q_o)l
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6. Find the length of the radius of a circle

with a center at the origin and passes

through the point (ZE,-Z]-\ (O/ Q)
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7. Determine whether the triangle with vertices at A(8,0),B(—3,2) and C(10,2) is isosceles,

equilateral or scalene. Justify your answer.
S ENCTETE BC= (350 pe=Jareat
W=V be =13 Ac= U3
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8. In circle O, diameter RS has endpmnts R(3a,2b —1) and 5(a — 6,4b + 5).Find the

coordinates ofpom‘tD in terms of a and b. Express your answer in simplest form.
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9. If the endpoints of AF are A(—4,5) and B(2,—5), what is the length of AB?
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10. Square LMNO is shown in the diagram. What are the coordinates of the midpoint of
diagonal TN?
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6. T is the midpoint of 5T, Find the coordinates of S if W(-6, 4) and T (4,8).
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7. Determine if AABC is an isosceles triangle if it has vertices A(-2, 5), B(3.,0) and
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8. Determine the slope of the following lines given their equations 0 mmﬂ
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Leszen 5: Partitioning a Segment
Warm-up:

1) Find the slope of the following lines:

Ay Ay

A
=Y
A
= Y

M=

2) Find the mid

3) Find the length of 4B
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Solve for x: Solve fory:
1) x=3 _ >3 2) ytz _ >
6-x 2 5—y
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Partitioning a Segment

Question: How db you find the point on a directed line segment that partitions a
segment inte a givenratio?

/—
Directed Line Segment: A directed line segment is a line segment that has

direction associated with it, usually specified by moving from one endpoint
to another.
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1. Find the coordinates of point C that lies along the directed line segment
from A (1,1) to B (4.1) and partitions the segment inthe ratio of 2 to 1.

a. Draw AF with ¢ between A and B Label the coordinates of 4, B, and

—_— N '3
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C d\CB in the x direction. —
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¢. Solve your proportion to find the x coordinate of C. ) (X l )

aX= X[
4—?*:%35 ‘\'g\(Xi-)

A=3¥

d. Make a proportion describing the lengths of AC chCE in %}r direction.
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e. Solve your proportion to find the y coordinate of C.

>_ Y-

| \- Y
a(-y=10y-1) 9=V

f. Write C as an ordered pair.

EEN)

Think of 2 wa‘s you can CHECK to make sure your answer is correct:

x € <—sl ol <o < ore =
»_AiStance — lngths will = W
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Use both methods to check the accuracy of your answer.

SLOPE DISTANCE

14
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2. Find the coordinates of the point P that lies along the directed line segment
from A(3.4) to 3(6 10) and par‘l'l‘l'lons the segment in the ratio 3 to 2.

.4"‘,’3("7’3 &move this way

B(6, 10)

10
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]
Practice (you MUST use one method to check your workl)

1. Find L on JK such that JL: LK = 4:1, when J = (—3,5) and K = (1,—10).

March 21, 2018
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2. Find R on MP such that R partitions the line segment in the ratio of 5 to 2,
when M = (-10,8) and P = (-2,11).
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3. Cis between A and B. A, B, and C are collinear. Find the coordinates of B if
AC:CB =5:1,A=(1,2),and C = (6,—1).

March 21, 2018
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HW 10-3:

HW Packet 10-3

March 21, 2018
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